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General Instructions :

1. The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

2. All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

5. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.
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H-3 / SECTION-A
FEFIVEE a1 54 e § eavash At w1 qfd & fau e vata 78 @@ e g9 wRm 1
fafa |

Vﬁiffusion is insufficient to meet the oxygen requirements of multicellular organisms like

human. State reason.
feet orem % =g 1 Wfads (R) , T8 fE p iR g6 fall W eman fer fasarm (v) § w1
gy fafiau

Write the relation between resistance (R) of filament of a-bulb, its power (P) and a constant
voltage V applied across it.

foreet &1 Sframew Sl & - fafa) 1

Name any two fossil fuels.

el IETEX0T 1 TeTad | A it T 0 g o H ik Rl srenfees RS F WY 2

Ffuferan FTa g1 e

With the help of an example explain what happens when a base reacts with a non - metallic

oxide. What do you infer about the nature of non-metal oxide? iy

1 a1 /X R 31urg Y’ & WY el % TR g WA F i A (2 awd € |

() A ‘z' F o ey F1 Seord it |

(i) 79 AR F Teri R F@UHiE & fava § e faEn fafe)

(iii) ¥ 9% AT fRUfaA siean B2 | faerg 2 ?

(iv) = g% AT fargm @1 ar=e1 =t e ?

A metal ‘X' combines with a non-metal ‘Y’ by the transfer of electrons to form a compound Z.

(i) State the type of bond in compound Z.

(i)  What can you say about the melting point and boiling point of compound Z?

(iii)  Will this compound dissolve in kerosene or petrol?

(iv)  Will this compound be a good conductor of electricity?

=1 F e ger fafae 2

(i)  Hae dfre HifwE (i) U

(i) ~ HIH 58 (iv) e dfaent SR

Write the main functions of the follo:}\g :
)

(i) ¢ sensory neuron Al cranium
(1) vertebral column (iv)  motor neuron

e el 31 faerai o frg R fagifea ee sme Sea= i ? 3

(i) RSN 3T (iv) Wifeaw TReiaEs
Gy  EfEE e (v)  iefirm TEgiasEe
(i)  FewfE v (vi) A sRgieEs

How the following substances will dissociate to produce ions in their solutions?
(i) Hydrochloric acid (iv) Sodium hydroxide

(ii) Nitric acid (v) Potassium hydroxide

(iii) Sulphuric acid (wvi) Magnesium hydroxide
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/mmﬂmaﬁwmaﬁﬁmﬁkngmﬁmmmwﬁmmm 3
F1 oe ¥ firemen| #7938 TEEe! S 9t § g efE
() wETe S g W ST 9 SN H 6 2
Giy 2 ae sfufme % fawm F freed fafaa)
(i) e At situfwan # Hanfera wEEfs FHEw fata )

Take 3g of barium hydroxide in a test tube, now add about 2g of ammonium chloride and mix the
contents with the help of a glass rod. Now touch the test tube from out side.
(i) What do you feel on touching the test tube ?

(ii) State the inference about the type of reaction occurred.
(iii) Write the balanced chemical equation of the reaction involved.
9 /" fre v & e i 3

(a) T 2 ugedi % A fafed S sdeh # e W e S €

(b) it 2 urgsh ¥ A fafed showl A w sl e & e sfufen T w E 3
urel @t aifufErar gaen § F st 8w E?

(©) TR E W T S T W AR S § | 3ee et e fafed |

Answer the following questions :

(a) .Name two metals which melt when kept on Palm.
(b)  Name two metals which do not react with oxygen even on heating. What is the likely
position of such metals in the reactivity series ?
What happens when steam lS passed over hot iron. Write its che

d
e salts be prepared?
11 () S A UeEt e o R A 3

(b)  SATEER e TR WA FA H e & W €

How does chemical coordination take place in animals ?
It is advised to use iodised salt, Give reason.

12 " e TR T 30 S S WG S @ e R R TR 2 €2 3

Explain how the translocation of materials in phloem tissue in plants is achieved by utilizing

nergy ?
u/ YR 1 e UUEEd | TH Wi § wis IamEfTes R o dafea e Jeee 3

fafa |

Explain the significance of photosynthesis. Write the balanced chemical equation involved in
%he process. S

14 9 whRE, T e w1 iy 3 0 3 v R 3 § uitoy ¥ i sEen dEte e T E)
A2l | o m um afEwfea wiE)

w

Page 3 of 10
Downloaded from http://jsuniltutorial.weebly.com/ Page 3 of 10




JSUNIL TUTORIAL
\

o |*~\N\NV‘——\/WW‘——-—

1 30
| et —
| T

Hr (<}

3V

/ Three resistors of 3 {2 each are connected to a battery of 3 V as shown. Calculate the current

drawn from the battery.
30 30

3V
Amm%mﬁmmawmmmmm%mmaﬁ 3

16

ST SIS |

Design an activity to demonstrate that a bar magnet has a magnetic field around it.

frefafaa & fog sro Gfse 3
(a)  Ser AR T ST faeeT ar g wEd @k ol ¢ |

(b) el wRae H gfadiel o1 awvd SEeE vEm e S g

(c) ey uitay H WS =1 wE HEeyyl €

Give reasons for the following :

& Itis dangerous to touch the live wire of the main supply rather than neutral wire.
( In household circuit parallel combination of resistances is used.

(&~ Using fuseina household electric circuit is important.

17 AR T T H e & e W 9 F w9 W awd Sudm i o § | 39 7 e § e on 3

fir wreE Te @ Ae 16 €1 3 fafvea R 3/ 9 adl & W W IR SS9
FOT

@ TR TEE A TR [ TER W R H § 2

(i)~ =R F el § et THH F qEe St € 7 3w fate )

(it ToER & H SR A wE F F fa i e €2

Ranbir lives in a village and uses wood as a fuel. He studied in his school that charcoal is a
better fuel than wood. He decided to use charcoal instead of wood.

% How can Ranbir obtain charcoal from wood ?

(#f _ Why is charcoal considered as better fuel than wood ? Give two reasons.
(iﬂ( State the values that prompted this action of Ranbir.

18 FaETTY 3R TR wel Eid | a1 e el | Yo o U serd i fafe 3
Write two points of difference between renewable and non-renewable sources of energy.
Give one example of each.
19 (a)  Hewor 1wt fafaa 5
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(b) @& % e S F FEd € 2

() 9 wTel o1 HERU HY Te=r 2

(d) T8 1 HAR U TR gHe @6 8 ?

() &1 @e % Gamu ) ford wHR U 9d 87

{a)— Define corrosion.
—b7~ _What is corrosion of iron called ?
How will you recognise the corrosion of silver ?

( Why corrosion of iron is a serious problem ?
()/'HOW can we prevent corrosion of iron ?
(@) efad Td Stedifsd @avl fFe $ed ¢ 7 ToF FI TF 3979 el 5RI T9eE | 5

(b) —E= HiE I F Fwiv fFm yeR s €7 9 98 s 9 uad § ufEfda da e

a@ 7 siffsan 2t €2

(a)—7 What are anhydrous and hydrated salts ? Explain with a suitable example of each.

(b) How is Plaster of Paris prepared ? What reaction takes place when it

sets to a hard mass ?

(a)  UEY EHE N E? AR WHER F Uy SHE w g a6 aﬁqﬁmaﬁﬁmﬁﬁém 5

7

(b) 39 THY FA B S HE (g HA TG YHW Fl WA FAE? WG 7 A Hiferg )
What are. phytohormones ? List four types of phytohormones. Where are these

hormones synthesised ?

(b) What happens when a gromng plant detects hght ? lE:gplaing 2

(i) (o |fa ) w wifET

(iv)  uftedt wfadiges
(v) EEX]
(vi) foga =e=
(vii) Wi
(viil) R HfY

(a) Define electric current.

(b)  Draw the symbols of commonly used components in electric circuit diagrams for :
(i) An electric cell
(H‘)//‘Open plug key
,_(M)/ Wires crossing without connection
Variable resistor
Battery
(vi)  Electric bulb
W Resistance
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(viii) Wire joint

23 (a) ﬁqﬁﬁm&%maﬁmmﬁﬂﬁmﬁaﬁw&aﬁmw%nmmw 5
Tera & IeerE Hifau 5 39 g9 ey F0 2@N, @ o R o geEw & S yg # o
Fuee & TFH

() @ i dig i | & S,

(i) ¥ da | @ s,

(iii) & P T@EM?

(b) 3w weRtoll ¥ witafera wfae = am fafaw)
() v o s e Fram fafe)

A coil of insulated copper wire is connected to a galvanometer. With the help of a
labelled diagram state what would be seen if a bar magnet with its south pole towards one
face of this coil is :

(i')/ moved quickly towards it,

moved quickly away from it,

(ul)/ placed near its one face ?
(b/

Name the phenomena involved in the above cases.
State Flemings right hand rule.

24 mmmaﬁwmﬁww%l a1q fet gl & S 5
() =T R S TR T A o e W T e §, ST e e |
(i) 79 = 1 I SAftehas o g € 2
(i) % Fram fefad fraet gema @ = Ftm S e F S aw el
(v)  afE wes H g g g § a7 Sl o @ w3 aa w6 o R wer et @ e
(@)  Feehia & i e Sohfia it g Sy ?
(b)  umr ) fewn SeRfia e W ?

A current carrying conductor is placed in a magnetic field now answer the following :
(@)~ List the factors on which the magnitude of force experience by conductor depends.
(ii)/ When is the magnitude of this force maximum ?
(iii)/ State the rule which helps in finding the direction of motion of conductor.
(iv)  If initially this force was acting from right is left, how will the direction of force change
if :

(q)/ direction of magnetic field is reversed ?

(b) .~ direction of current is reversed ?

WTTT-& / SECTION - B
25 3 fareresil A @918 ®Y pH YT W STE KA e 991 @ i1 9w g S e e e 1
TFare, GE
(a) faems g 1 pH o faeram A | atfba 21
(b) faem g 1 pH O faeam A § & 7
() faerpus &R T
(d) ToeEAATE a7 B

Two solutions A and B were found to produce colours on pH paper blue and red respectively.
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inference which can be drawn is :
(&/t}he pH value of solution B is more than the solution A.

The pH value of solution B is less than the solution A.
(c) The solution B is a base.
(d) The solution A is an acid.

26 uF TrEeel o fou MY A S § Rl ga x # Fo 98 ool w8 9 ke e e fE s 1
e % pHH gfg A ME 71 TF X B HFAE
(a) g T (b) T
(c) TSI e d)  Gifegw sEEEie faaam

A few drops of liquid 'X' are added to distilled water taken in a test tube. It was observed that the pH

of distilled water increased. The liquid X'
could be :

(a) lemon juice (b) thanoic acid

(c) hydrochloric acid (d sodium bicarbonate solution

27 @ HCI 3R Gifeas FEie 51 sifa & win w0 a8 U o 7 eEd ehamee el 1
1 e T = Yaor g -
(a) T2 w6 Wt 1 T
(b) IEEI Y AT
(c)  F% el &l | S g
(d) O U STt Hidedt F g ol ¢ |

After performing the reaction between dil HCl and sodium carbonate, a student noted the
properties of carbon dioxide. Correct observation would be that carbon dioxide is :

(@) pale yellow in colour

(b)  has pungent odour

(c) urns with a blue flame
(cj)/:xtinguishes a burning candle
28 71 3 FIW Hewe 1 faea foan iR 39l T o (X) el | U e 9] He0 T W I A 1
s e T fererer o 4 T @ e it U W e o WA SA T | 9 g A e g
(a)  &a¢ Zn (b)  FEE Al
(c) Fdd Fe (d) Zn3JYATAl

Archana took solution of copper sulphate and added a metal (X). To her surprise after an hour
the colour disappeared and the metal had reddish brown deposit. The metal could be :

(a) Zn only (b) Al only
(€) Fe only (d) ZnorAl

29 et &1 <1 ofval frdt wamel # faw mu b et & faemm § g e wl ) s e 1
TETAEE® ¢

()  STord TR o T e OTéE T it g g
(by @k o I faerm e i F oftafda 2@
(c) &0 o Sit-+i s &

(d) e = freen fou wew an

Two aluminium strips were kept immersed in ferrous sulphate solution taken in test tube.
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The change which was observed is :
(a) a colourless gas with the smell of burning sulphur s released.
(b) light green solution changes to blue.
(c) _ the green solution slowly turns brown
(d) the lower end of the test-tube becomes slightly warm.
30 #3 faw Tu wfiwe @ V,, Vo 991V HHE: 2 Q, 4 Q3401 6 O WRr F 51 F = e 1

% 1 uyftay # warfea a1 10 A ®1

20) 40 6 Q)
—T }—{ +—{ 1
10 A 4_\]1 — 4—\/7—-» 4—-\/1——»

V), V, @1 V, ¥ dree 3 ) e @ ae s €1
v, Va Vi

(a) 1 2 3
(by 20 40 60
(c) 2 4 6
d) 3 4 2
In the circuit diagram given below Vy, V,and V; are potential differences across 2 (2, 4 Q and
6 () resistors respectively. The current flowing in the circuit is 10 A
20 40 6

e 1 2 | T— j— e
10 A <~—~V1 — q——-V2~——> 4———\/3—»

The correct values of V;, V, and V3 measured in volts respectively are given by
Vg Ve T
(@) 1 2 3
(b) 20- 40 60
()~ 2 4 6
(dy 3 4 2
31 U O 2 AR R, #R R, ¥ SRR WASH H1 qed TR T F F1 T 6@ 91T G
e an wfeay o fre

M__{ —{ TN
Zo7% g1 iy & o ) T e € T

(a) I8 Ry SR Ry &1 &vfi H Sien &)

(b) 3 sieediet %1 wiadHl % @y 4oft 7 ser 7

(©) 389 arfrex i wie F e e § S ¥

(d)  dieedie R gEm fawda g6t e

A student was doing the experiment of finding equivalent resistance of a combination of
resistance Ry and R, in parallel The circuit drawn by him is :
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The mistake committed by him in the circuit is that :
(a) he has joined Ry and R in series.

(b) he has joined voltmeter in series with resistances

(c) he has joined ammeter in parallel with resistances
(d) polarity of voltmeter needs to be reversed

32 wEFWamF Uiz @ ae s 1
(a) frergda (b)  EEH
() Wt (d)  wfaer TekEe
The chemical used to test the starch :
(a)  Glycerine (b) lodine
() Safranin (d)  Methyl alcohol

33 'yEE & A CO, SN didl @' ui % A A Fe om § o wmuifet s e 3 1
() v Al B e i
(i) iFRa e e e | g A =few
(i) w%mmﬁﬁwmﬁmﬁgnﬂﬂ_
(v) sFfdRdmeEdwRT
RIERIERIEARE IR Ch SR
(a) (i) =1 (iii) (b) (i) a1 (ii)
(©) (1) T (iv) (d) (1) T (iv)
The precautions that should be taken in the set up to prove that 'CO; is given out during
respiration' are :
(i) The flask should be air tight
(i)  Germinating seeds should be immersed in water
(iii)  There should be regular supply of oxygen for respiration
(iv)  The germinating seeds should be moist’
The correct set of precautions are :
(a) (i) and (iii) (b) (i) and (ii)
(c) (i) and (1v) (d) (i) and (iv)

34 e o Rl 1 uw s ot § o A T w0 W e & wed F s o Afem w €2 2
(i) ™ A F v foReel = o = ar?
(i) T A F vvEE yog el § a9 g s o fafan )
(iii)  Iefsta i = o E 2
(iv) &1 =T 7Y % Seeig Fifs
On heating ferrous sulphate crystals gently in a boiling tube, what do you observe with
respect to the following ?
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(1) What was the colour of crystals before heating ?

(i1) Write the colour of residue left in the test tube after heating,.

(iii) ~ Whatis the colour of the gases evolved ?

(iv)  Mention the small of the gases.
;‘/ﬁaﬁﬁvﬁﬁcﬁamﬂqﬁwmomaﬂtsmmA#ﬁs%ﬁa’\a 20 W ¥, & FeTaHiw 2

ufterfera it |

Find the least count of a millammeter in which there are 20 divisions between 400 mA and 500

mA marks.
e s o e o S et s s 3 frg 4 o 4 o 82 A 2
g fafEg)

Explain why leaf is preferred for the preparation of temporary mount to show stomata. State
two functions of stomata.

-a0o0o0o-
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